Key to Quiz II; F4360; Summer, 2000

1.  What is the name of the organization that oversees trading on exchanges on in the over the counter market?  New security issues must also be registered with this organization 20 days prior to issuance.  SEC (Securities and Exchange Commission)

2.  How would you determine the underwriting spread on a new stock issue?  Difference between sales price and price paid to firm by the investment banker

3.  Assume that two firms have identical assets with a market value of $650,000 but that the firms have different capital structures.  Firm #1 is funded entirely by stock while firm #2 has outstanding debt worth $100,000 and outstanding stock worth $550,000.  The yield to maturity on this debt is 8.5%.  How would you duplicate investment in the stock issued firm #1 using the securities issued by firm #2?  Buy stock and bonds in #2 in proportion to their market values.

4.  Suppose that a firm in which you own stock has just announced that it intends to issue a substantial amount of debt and use the proceeds to repurchase shares of its stock.  If you simply hold on to your shares, what will happen to the risk you face from your investment in the firm’s stock?  increases

5.  Assume that the corporate tax rate is 35%, that the tax rate on interest received by investors is 20%, and that all investors demand a 10% after-tax return.  Assume also that a firm is considering issuing debt that will pay interest of $1000 per year and that it will use the proceeds to repurchase shares from stockholders.  How has stockholder wealth changed due to this debt issue?
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6.  What evidence do we have regarding the average amount of debt used by actual firms?  < 50% debt (book value) and most firms don’t fully utilize the debt tax shield since pay substantial income taxes => the average firm appears to have little debt

7.  How does a stock dividend differ from a cash dividend?  Distribution of shares rather than cash

Use the following information to answer questions 8 and 9.

Jackson Corp. has 5 stockholders as follows:

Stockholder
Shares
Sue
100,000

Carol
250,000

Benjamin
150,000

Craig
300,000

Greg
200,000
Total
1,000,000


Jackson is planning to repurchase 200,000 shares for $75 per share (a premium of $25 compared to its current market price of $50 per share).

8.  What will be the value per share after the repurchase takes place?  
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9.  Assuming all stockholders act in their own best interest, how many shares will Craig be able to sell back to the firm with a tender offer?  
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10.  According to the signaling theory of dividends, what is the fundamental reason that a firm’s stock price should rise if the firm announces an unexpected increase in dividends?  Reveals management’s optimism about future earnings.
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